Gotlands BF
DM-Par 2

Partavling, 6 bord, 12 par. Antal brickor: 44. Medel: 221.0.

Plac  Par Poang % Namn MID Klubb
1 5 261.2 59.36  Jan Hjorth - Tomas Lund 4158 79113  Visby BS
2 6 256.6 58.32  Benny Appelqvist - Thore Soderlund 5231 5233 Sudrets BK
3 9 244.6 55.59  Pekka Wartia - Bosse Lindberg 18547 5214  Visby BS
4 3 244.0 55.45  Torbjorn Nyberg - Bo Petersson 12682 11140 Uppsalabridgen
5 8 242.3 55.07  Per-Erik Larsson - Stefan Budin 2264 11046  Sudrets BK - Visby BS
6 2 241.9 54.98  Jan-Olof Henriksson - Bo Elfverson 13223 1911 Visby BS
7 4 218.8 49.73  Maria Wirén - Ylva Rosvall 35145 7296  Visby BS
8 12 2135 48.52  Eva-Marie Elingmark - Ulrika Forsberg 5168 89334  Vishy BS
9 1 202.4 46.00 Maérta Lindberg - Carin Bilar Nyberg 8908 22778  Visby BS
10 11 201.5 45.80 Bengt Lindskog - Tom Wickstrém 490 11044  Visby BS - Sudrets BK
11 10 170.3 38.70  Birgitta Gustafsson - Hasse Tagt 92160 87384  Vishy BS
12 7 154.9 35.20  Sune Rongyist - Gosta Eriksson 15196 5185  Visby BS
23 410643 Basta kontrakt 24 4 D74 Basta kontrakt 25 410 Basta kontrakt
Syd vDKn76 4¢ V =-130 Vast v EKn865 34 VD-1100 Nord vED107 3NT N =400
Alla ¢ E32 Ingen + D109 ov + E1087
»32 & ¢ v & NT »E2 & ¢ v & NT #D1087 & ¢ v & NT
475 aE2 N8 3694 48653 4K1092 N8 4956 o E 4KKn9753 N 8 107 6 9
vK v1095432 S 8 3 6 9 4 vD10 vK3 S 84956 vK65432 vKn8 S 8 107 6 9
¢ KDKn9654 ¢ 107 O 4 106 3 5 ¢ K852 ¢ EKn43 058486 + KD2 465 043664
#ED10 #Kn84 V 4 106 3 5 #Kn109 #KD6 V5848€6 #KKn9 #643 V536864
4« KDKn98 & EKn 4 D8642
vE8 v 9742 v9
+8 +76 ¢ Kn943
*K9765 #87543 #E52
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
12 1 44 S= ¢K 620 100 00| 9 4 2v N+2 K 170 100 00| 4 11 44D O-3 #A 800 10.0 0.0
11 2 5¢DV-1 44 200 80 20| 310 44V-3 VA 150 80 20| 8 7 3vDV-2 T 500 8.0 20
9 4 34S+1 vK 170 6.0 40| 7 6 2v N+1 #Q 140 40 6.0 9 6 3¢ N+1 8 130 6.0 4.0
3 10 24 S+1 ¢K 140 40 6.0 8 5 2¢v N+1 &K 140 40 6.0(10 5 3v V-1 T 100 30 70
7 6 3¢ V+l &T -130 1.0 9.0(11 2 3vy N= 49 140 40 6.0(|12 2 24 0-1 ¥9 100 30 70
8 5 4¢ V= &3 130 1.0 9.0(12 1 34V-1 ©vA 50 0.0 100 1 3 4¢S-1 3 -50 0.0 10.0
26 a4 Bésta kontrakt 27 4985 Bésta kontrakt 28 « EKN97543 Bésta kontrakt
Ost v 10987 34 O =-140 Syd v D987 64 V =-980 Vast vKn74 54 N =650
Alla + 1052 Ingen + D93 NS ¢ E7
#KD1062 & ¢ v & NT «D85 & ¢ v & NT *2 & ¢ v & NT
4 862 4 DKn953 N7 56 38 4 KKn643 «ED107 N58314 D 482 N 6 6 111110
vEK53 vD4 S756 338 v EKNn104 vK62 S58314 v K96 v532 S 6 6 111110
¢ Kn7 + EK864 0576 95 *- ¢ 10754 075 9 127 ¢ K10432 ¢ D965 oO77111
#Kn543 &8 V578695 #Kn642 #E9 vV 759 127 *K976 #D1085 V77111
« EK107 a2 & K106
v Kn62 v53 vED108
+ D93 + EKKn862 + Kn8
*E97 #K1073 #EKn43
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 11 34 O-1 #A 100 100 00| 2 4 4a4 V= 3 420 9.0 10|12 3 64 N= 5 1430 10.0 0.0
1 3 240= v2 110 7.0 3.0|10 7 4e4V= 3 420 9.0 10| 9 8 44 N+2 48 680 8.0 20
9 6 24 0= ¢3 2110 70 30| 5 1 540= +¢K 450 4.0 6.0 2 4 44 N+1 5 650 40 6.0
8 7 24 0+1 92 140 4.0 60| 9 8 44 V41l 2 450 4.0 60| 5 1 44 N+1 5 650 40 6.0
10 5 24 0+2 v¥2 170 2.0 8011 6 44 V+1 3 450 4.0 6.0(11 6 44 N+1 3 650 40 6.0
12 2 44 0= 92 -620 0.0 10.0|12 3 5¢DS-4 43 -800 0.0 10.0(10 7 24 N+1 ¥5 140 0.0 10.0
29 #7532 Bésta kontrakt 30 452 Bésta kontrakt 31 & K432 Bésta kontrakt
Nord v94 3« O =-110 Ost v K1053 44 O =-420 Syd v K876 4¢ V =-130
Alla ¢ K9732 Ingen + D102 NS + D5
«D10 & ¢ v &4 NT #8654 & ¢ v & NT «D74 & ¢ v &4 NT
«104 « KD9 N3 8585 4« Kng4 4 E1076 N28234 a5 # 10987 N4 3766
v D82 v K1063 S 38586 vEKn9876 vD S 28234 vE9S2 v4 S 43766
¢EKn84 ¢6 095857 ¢E + Kn96 O 115 10108 ¢ KKn83 ¢ E9762 O 9 105 6 7
K642  #Kn9853 V95856 &DKn7 #EK1093 V 115 10108 210863 &EKn2 vV 9 105 6 7
4 EKn86 4 KD93 4 EDKn6
v EKn75 v42 v DKn103
+ D105 + K87543 + 104
»E7 *2 »K95
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
12 4 INS+4 5 210 100 0.0 3 5 3NO-2 +4 100 9.0 10|12 5 2vy N= 438 110 10.0 0.0
11 8 INS+3 &4 180 80 20(12 4 3NO-2 +4 100 9.0 1.0(11 10 4v N-1 T -100 8.0 2.0
1 7 34N+l +6 170 6.0 40| 1 7 4v V-1 45 50 50 50| 1 9 4vS-2 45 -200 30 7.0
3 5 INS+2 8 150 40 6.0(10 9 4v V-1 &5 50 50 50| 2 8 4vN-2 +A 200 30 7.0
10 9 INS= ¢4 90 20 80 6 2 4v V=T 420 20 80| 4 6 4vy N-2 +A 200 30 7.0
6 2 264V+l v4 -110 0.0 10.0|11 8 4v V+1 2 -450 0.0 10.0| 7 3 3v N-2 &T -200 30 7.0
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32 4 Kn92 Basta kontrakt 33 4 E742 Basta kontrakt 34 49 Basta kontrakt
Vast v4 5NT O =-660 Nord v Kn96 2NTND-1-100 |Ost v K832 34 O =-140
oV + D864 Ingen + E985 NS ¢+ EDS8
#D9752 & ¢ v & NT *K2 & ¢ v & NT #EDKnN102 & ¢ v & NT
443 « ED5 N3 3362 « D6 4KKn1l053 N 7 6 5 5 7 «DKn74 & EK65 N6 6545
vK102 vE875 S22362 v 532 v EKD4 S76557 v 1054 v EDKn9 S6 6535
¢ K102 ¢ EKn73 O 1010107 11 ¢+ KD1042 +6 O6 6 786 ¢+ K10752 + - 0778965
#EK863 #Kn4 V 10109 7 10 #1097 #D63 V667 86 &K #76543 V77896
» K10876 +98 # 10832
v DKn963 v 1087 v76
495 ¢+ Kn73 + Kn9643
+10 #EKn854 »98
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
11 10 44 N-4 &) -200 10.0 0.0 2 10 24 O= 3 -110 95 05| 1 11 1e¢DV-1 49 100 7.4 2.6
2 8 3NO= ¥Q -600 6.0 40| 1 11 24 O+1 ¢3 -140 5.0 50| 2 10 44 V-2 #A 100 7.4 26
4 6 3NO= 3 -600 6.0 4.0(|12 6 24 O+1 A -140 5.0 50| 3 9 4eV-2 a9 100 74 26
12 5 3NV= v4 600 6.0 40| 8 4 24 O+2 3 -170 05 95|12 6 34 V+1l 49 170 26 7.4
1 9 3NO+1 46 -630 2.0 80| 3 9 60%/60% 6.0 6.0 5 7 2&N-2 &A -200 0.2 9.8
7 3 3NO+2 ¢Q -660 0.0 100| 5 7 60%/60% 6.0 6.0 8 4 60%/60% 6.0 6.0
35 D64 Basta kontrakt 36 4765 Basta kontrakt 37 4 D92 Basta kontrakt
Syd v K32 44 N D -3-500 Vast v KKn9742 5¢ N =650 Nord v 109632 54 O =-450
oV ¢ ED942 Alla 4108 NS + 864
#DKn & ¢ v & NT #D3 & ¢ v & NT D4 & ¢ v & NT
41053 4Kn9 N56 3765 4 K983 4 DKn42 N5 9 116 9 4 E10843 & K65 N127 22
vDKn94 vE1065 S46 365 vD63 v5 S5 9 116 9 vKn v8 S127 22
¢ 107 ¢ KKn63 08 7 106 7 ¢ DKn9 ¢ K75 08426 3 ¢ EKn75 ¢ D93 O 11116 117
#E1064 #K92 vV 8 7 106 7 #E65  #98742 V8426 3 *K65 #E108732 V 11116 117
& EK872 «E10 & Kn7
v 87 vE108 v EKD754
+85 ¢ E6432 + K102
#8753 #KKn10 #Kn9
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 10 INN+1 ¢5 120 9.8 0.2(12 7 4vy N+1 &9 650 100 00| 5 11 44 0+1 ¢K -150 9.0 1.0
12 7 24 S= T 110 7.4 26| 6 8 4vyN= &9 620 80 2012 8 44 0+1 vA -150 9.0 1.0
2 1 INN= v6 90 50 50| 3 11 3vy N+1 Q 170 50 50| 3 2 4e4V= v2 -420 6.0 4.0
3 11 24 N-1 49 50 26 74| 4 10 3y N+1 44 170 50 50 4 1 46 V+1 T -450 2.0 8.0
6 8 2vV+2 &J -170 0.2 98| 9 5 140 20 80| 7 9 44V+1l T -450 2.0 8.0
9 5 60%/60% 6.0 6.0 2 1 4vN-1 4Q -100 0.0 10.0|10 6 44 V+1 w2 -450 2.0 8.0
38 4 D742 Bésta kontrakt 39 & K6 Bésta kontrakt 40 4 Kn10762 Bésta kontrakt
Ost v K65 34 S =140 Syd vKn10963 4v S D -1-200 Vast v- 7¢ N D -3-500
ov *+K Alla + Kn93 Ingen + D53
#KDKn53 & ¢ v & NT #Kn94 & ¢ v & NT #109853 & ¢ v & NT
4 K1065 oE N 106 6 9 8 475 4 Kn1093 N52 97 2 |aK « D943 N 3 101 6 1
vD842 vKnl073 S 106 6 9 8 vK5 v 84 S 52 9 7 2 | vyEKKn10754 vD9863 S 310161
¢Kn42 ¢ E98765 037734 ¢+ ED86542 ¢ K107 O7 103 6 9 |+6 ¢E O 103 127 12
*84 »97 V37734 *E7 #KD52 V 6 103 6 9 | «EKD4 &Kn72 vV 103 127 12
4 Kn983 4 ED842 4 E85
vE9 vED72 v2
+ D103 .- + KKn1098742
*E1062 #10863 *6
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
5 11 44 S= v4 420 90 10| 6 1 5¢V-2 K 200 100 00| 6 1 7¢DS-1 vA -100 10.0 0.0
7 9 44 S= ¢2 420 9.0 10| 8 10 4¢ V-1 &K 100 80 20|11 7 6¢4DS-2 #A -300 8.0 20
10 6 34 N+1 +A 170 50 5011 7 4vS-2 +A 2000 6.0 40| 5 2 7¢DS-4 £Q -800 6.0 4.0
12 8 34 S+1 ¢A 170 50 50 5 2 5¢V= &K -600 3.0 70| 4 3 6y V= +Q -980 2.0 8.0
4 1 24S= ¢2 110 20 8012 9 3NO= 2 -600 3.0 7.0| 8 10 6vyV=  ¢Q -980 2.0 8.0
3 2 34S-1 2 -50 0.0 100f 4 3 3NO+1 a5 -630 0.0 10012 9 6y V= 3 -980 2.0 8.0
41 4 ED2 Bésta kontrakt 42  DKn10 Bésta kontrakt 43 «KD10 Bésta kontrakt
Nord v ED54 34 O =-140 Ost v6 64 S =1430 Syd vD8 34 SD-1-100
oV + D973 Alla ¢ EKKn1053 Ingen ¢ E3
*64 & ¢ v & NT #854 & ¢ v & NT #EDKN1096 & ¢ v & NT
« KKn765 4983 N555 45 432 #9874 N 12118 1210 & 82 ~E764 N8 8 485
vKKn108 v76 S55545 vK932 vDKn84 S 12118 1210 v EK1072 ¥Kn653 S 88485
+ Kn ¢ EK104 077798 497642 +D8 012411 4984 ¢ K75 054857
#E85 #K1093 V 88 8 9 8 #K10 #972 V12411 *K74 83 V55957
104 » EK65 & Kn953
v 932 vE1075 v 94
+ 8652 .- + DKn1062
#DKn72 #EDKnN63 »52
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
7 2 44 V-1 &6 100 100 00| 6 3 6#S= ¢2 1370 100 00| 8 3 3#N= ¢5 110 10.0 0.0
9 11 INO= 5 90 80 20(12 10 SNN+3 2 690 80 20| 2 9 3vV-2 &K 100 80 20
5 4 24 V= &6 -110 6.0 40| 5 4 3NN+2 49 660 6.0 40(10 1 3vV-1 +A 50 6.0 4.0
12 10 24 V+1 o7 -140 40 6.0 9 11 3NN+1 49 630 40 60| 7 4 44N-1 &4 50 3.0 7.0
1 8 3NO= v¥9 600 2.0 80| 1 8 6NS-1 7 -100 2.0 8.0(12 11 44 N-1 5 50 3.0 7.0
6 3 4eV= &4 -620 0.0 100 7 2 64 S-2 2 -200 0.0 100 6 5 3vV=  &4Q -140 0.0 10.0
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44 4 DKn9642 Basta kontrakt
Vast vD10 5# V D -3 500
NS + KDKn7
&6 & ¢ v & NT
4 EK103 #8 N 4 10109 4
vKn62 v853 S 4 10109 4
+ 106 +98 082323
&#E874 #KDKn10952V 8 2 3 2 3
&75
v EK974
¢ E5432
&3
Par Kontr Ut Res Poang
12 11 44DN= &K 790 95 0.5
8 3 3NV-3 +¢K 150 50 5.0
10 1 3NV-3 «¢K 150 50 5.0
7 4 54DV-1 4Q 100 05 95
2 9 60%/60% 6.0 6.0
6 5 60%/60% 6.0 6.0
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